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On the first chain, color the first 6 beads green.
On the next chain, color fFewer than 6 beads red. .
- How many beads did you color red? Write the
number in the box.
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. red beads is fewer than 6.

Which has Fewer? The # or & ?

" Circle the set that has Fewer.
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Which has more? The [l or <> ?
Circle the set that has more.
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p + 3. Count the objects in the first box. Drc:w the
same number of circles in the empty box.

How many sunglasses?

Draw a sun for every pair of sunglasses.
Draw 1 more sun.

How many suns?

How many glasses?
Draw a straw for every glass.
Cross out 1straw.
How many straws?




TOPIG F = COmparison
OF Sets within 10

I can relate more |l can compare
and less to length. |sets informally
using more or

Problem 1 - /4 |Fewer.
I can identify and
create a set that |Problem 2 - /2
has the same I can reason to
number of identify how many
objects. to match and
make a set that
Problem 3 - /2 |has 1more/1less.
Problem 4 - /8
Score:
/16



